NI one ( nA R

Dayanand Mahila Mahavidyalaya

Notice

Date 4.3.2017

Mathematics & Scicnce Socicty is going 1o organize
a contest "Check your mental ability" on 14.3.17 for
the students of B.A./B.Com.B.Sc. III. All the
inicresied siudents may give their names io the
following teachers latest by 8.3.17 and must
reach Multimedia Room on 14.3.17 for the contest

at 1:00 p.m.-

Mrs. Suman (Physics)
Mrs. Monika (Chemistry)
Ms. Ratika (Maths)
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If CLERK is written as EOIWQ. How is TABLE written.

Check your Mental Ability

I howes
M.M. 100

aeh question is of 2 marks. Student will get 2 marks for each right question and

“).;) ne L'll‘i\( may k\ |0| ¢ wrong estio T t mar kin 10' “'0“2
3 HLIN h ¢
' C 2 qu ti n. (i-e. ‘he (L) he g !

Choose suitable preposition

Fe prides himselt his good helath
a) on h) in ¢) of d) for
Which s correctiy spelt word
a) commendation b) adwvicable ¢) coherant d) tommorow
Math 1y physics
a) Fasier the *asi i
) Lasier than b) casier from ¢) easiest from d) easiest than

I'he sonnet is a poem of

a) 10 lines b) 12 lines c) 14 lines d) 16 lines
Loy

IFind synonyms of word Excuse
a) fluster b) immense ¢) apologise d) huge

Iind out the error part
Mr. Thakur said (1) / that he had never seen (2) / such a lovely spectacles (3) / in his life

(4) / no error (5)

a) (D b) (2) ) (3) d) (5)

IFind the opposite of word Obtuse
a) Sharp b) stupid c) tease d) allay

Choose the correct option for the following.
['o getinto hot waters:

a) to suffer a financial loss.

b) to be impatient.

¢) to get into trouble

d) to be in a confused state

Choose correct option @
Please ___your dog
a) prevent b) stop ¢) restrain d) subdue

et he and I do the work ourselves

a) he with | b) he and me ¢) him and me d) no improvement

_What is meaningful order of following

2. Root 3. Stem 4. Seed 5. Flower
b) 23514 ¢) 23415 d) 42351

[. Crop
a) 24513

a) VCDNG b) VDFQK ¢) VCDGN d) VDFOK
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20.

21.
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<M has a son Q and a daughter R. He has no other children, E 15 the mother of P and

1ty
I X" means (+); * ' means ‘x4

15+11X84 T X" means "~ and " means 4 then (
n) (1) b) (4) ¢) (0) d) (%)
0.7.26.63.3_”}“ o

a) 123 b) 96 ¢) 124 d) 87

daughter-in-law of M. How is P related to M?
a) P is the son-in-law of M

b) P is the grandchild of M

¢) P is the daughter-in-law of M

d) P is the grandfather of M

Statement —  Some papers are staplers
. t
Some inkpots are papers f
Conclusion (i) Some inkpots are staplers ;'

(ii) All staplers are papers
a) only (i) follows

b) only (ii) follows '
c) neither (i) or (ii) i
d) both (i) and (ii) I
At 3:40, the hour hand the minute hand of a clock form an angle of? 1
a) 120° b) 130° ¢) 125° d) 135° ’

Petal: Flower

a) salt: pepper b) base: ball ¢) tire: bicycle d) sandals: shoes

Which word does not belong the others?

a) tulip b) rose ¢) bud d) daisy

Cup is to coffee as bowl is to ‘

a) dish b) soup ¢) spoon d) food

Which country has won the ‘most popular tourism destination award’ recently?

a) Switzerland b) Japan ¢) Sri Lanka d) India

Name the district of Himachal Pradesh that has recently got approval to ber its sccond

capital. .

a) Shimla b) Solan ¢) Dharamshala d) Bilaspur

When is ‘International Yoga Divas’ is celebrated.

a) 25 April b) 21 May c) 21 July d) 21 June

Name of upper house of Indian Parliament is ‘
a) Legistative Assembly b) Rajya Sabha ¢) Senate d) House of Lords

Name the bollywood actress, who has been roped as brand ambassador for Indian
Government Cleanliness initiative ‘Swachh Bhara‘t Mission’ recently? .
a) Shilpa Shetty b) Vidya Balan ¢) Priyanka Chopra  d) Aishwarya Rai
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36.

it n“hc emment, who has been honoured with ‘Legendary Award’ 2017, recently
a) Saina Nehwal b) Amitabh Bachhan ¢) Lata Mangesh‘(ar d) Sania P;iirm '

7 N N ‘o i o th . =
ame the country.m which 9% BRICS summit to be held

a) Brazil b) China ¢) Russia d) Spain

Syed Shahabuddin, who died recently was a
a) Poct riter ienti
1) Poc b) Writer ¢) Scientist d) Politician

- The government of this state proposed a Smart Mosquito Density System to fight vector

horne diseases.
a) Harvana b) Andhra Pradesh ) Rajasthan d) Bihar
Name the lake. on which India’s first floating elementary school has inaugurated,

recently

a) Loktok lake b) Dal lake ¢) Chilika lake d) Wular lake

I'he Smallest angle of a triangle is equal to two third of the smallest angle of a

quadrilateral is 3:4:5:6. The largest angle of the triangle is twice of its smallest angle.

What is the sum. in degrees, of the second largest angle of the triangle and the largest

angle of the quadrilateral?
a) 1207 b) 180° ¢) 360° d) None of these

A firm is selling its product Rs. 60 per unit. The total cost of production is Rs. 100 and

firm is earning total profit of Rs. 500. Later, the total cost increased by 30%. By what

percentage the price should be increased to maintained the same profit level?
a) 5% b) 10% c) 15% d) 30%

3 men and 7 women can complete a work in 10 days. But 4 men and 7 women need 8

days to complete the same work. In how many days will 10 women complete the same

work?

a) 50 b) 40 ¢) 30 d) 20

I'wo boys A and B are at two diametrically opposite points on a circle. At one instant, the
(wo start running on the circle. A anti-clockwise with constant speed V and B clockwise

with constant speed 2v. In 2 minutes, they pass each other for the first time. How much

later will they pass each other for the second time?
d) 4 minute

a) | minute b) 2 minute ¢) 3 minute

yellow and 6 green balls. Three balls are drawn at random from

. A bag contains 4 black, 5
the bag. What is the probability that all of them are yellow?
a) 2/91 b) 1/81 c) 1/8 d) 2/8}

ated rice has 2% stones in it and the rest is rice. Half of the stone content

5 kg of adulter rest
was removed. Now the percentage of stone content in it is.
c) 1.1% d) 1.01%

1) 0.99% b) 1%
Al3 and CD are two chords of a circle, subtending 60° and 120° respectively at the same

| point on the circumference of the circle. Then AB:CD is
d) V3:V2

a) V3: 1 b) V2: 1 o1:1
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Vp would the minute and hour hands of a clock make

) I d) 12

39. One perc
: ent of the pe
the country are tallel: t;:g:]eﬁofif ‘il?uml')' X are taller than 6ft. Two percent of the people ol
- There are thrice as many people in country X as in country

Y. Taking both ¢ i
2) 3.0 ount”lf:)sztosgether, what is the percentage of people taller than 6 ft.”
‘ c) 1.5 d) 1.25

40.If y = 542 4 3, then the
a) passes through X=0, Ytil?)gent AN
b) has slope of +1
¢) is parallel to the x-axis
d) has a slope of -1 .

41. i i i
:ﬁ:;a;ts a b}JSlness with a capital qf Rs. 85,000. B Joins in the business with Rs. 42500
fte or!1e tm.le. For how much period does B join, if the profits at the end ol the year arce
divided in ratio 3:1?
a) 5 months b) 6 months ¢) 7 months d) 8 months

42. Raju can do a piece of work in 10 days, Vicky in 12 days and Tinku in |5 days. They all
start the work together, but Raju leaves after 2 days and Vicky leaves 3 days betore the
work is completed. In how many days is the work completed?

a) 5 days b) 6 days ¢) 7 days d) 8 days

43. The present ratio of the ages of A and B is 4:5. 18 years ago, this ratio was 11:106. Find

the sum total of their present ages.
a) 80 years b) 90 years ¢) 110 years d) 105 years

44, gof 1058.4 = 7% of 448

a) 175 b) 165 c) 145 d) None
? 676
45. == Fe »
a)l8 : b) 13 c)8 d) 12

A train is running at a speed of 40km/hr and it crosses a post in 18 seconds. What is the

length of the train?
a) 190 metres

46.
b) 160 metres | c) 200 metres d) 120 metres

If p-q=6 and p*+q*=116. What is the value of pq

47.
a) 30 - b) 40 ¢) 20 d) 50

A sum of Rs. 22500 deposited at compound interest becomes double after 5 years. After

48.
20 years it will become |
a) Rs. 320000 b) Rs. 340000 ¢) Rs. 360000 ¢) Rs. 380000
49. The square root of 16641 is
a) 129 b) 121 ¢) 211 d) 229
50.Ifa*b = a + b — Vab then find the value of 16 * 9
b) 13 ¢) 12 d) I

a) 14
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